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QUESTION 1

Which rule availability setting can you use to force the system to look for an instance of the rule in the next highest class
or ruleset?

A. Blocked

B. Final

C. Withdrawn
D. Not Available

Correct Answer: C

QUESTION 2
Management reports that have an unacceptably large number of cases are incorrectly identified as duplicate cases.

Which two approaches could you use to modify the duplicate case search process so that it produces fewer invalid
duplicates? (Choose Two)

A. Add a Persist Case step after the Duplicate Search step.
B. Adjust the condition weights.

C. Adjust the threshold value.

D. Do not use a must match condition.

Correct Answer: BC

QUESTION 3

You are analyzing application performance and notice one or more data transforms exceeding preferred performance
parameters. Which of the following performance tools do you use to help troubleshoot the issue?

A. PegaRULES Log Analyzer
B. Database Trace

C. Performance Profiler

D. Performance Analyzer
Correct Answer: C

Reference: https://archive.org/stream/SeniorSystemArchitectGuide/Senior%20System%20Architect%20Guide_djvu.txt
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QUESTION 4

You want operators in two separate units to be able to perform work routed to either unit. Which configuration supports
this requirement?

A. On each operator\\'s record, associate the operator with both units.

B. On each operator\\'s record, associate the operator with the same work group.
C. On the work group record, associate the operators with the work group.

D. On each unit record, associate both operators with each unit.

Correct Answer: D

QUESTION 5

Which two components does the Application Packaging wizard prompt you to include when you generate an archive
file? (Choose Two)

A. Data instances

B. Product rules

C. Data types

D. Checked-out rules

Correct Answer: AC
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